Find more at

YR Find the inverse of each function.

/\ Chapter 7: Functions Operations

Function Inverses

1) g(x) =6x - gi(x) =

4)

5)

6)

8)

0) fl)="E0 i (x) =

10) s(x) =vVx—2- s (x) =

hix) =

1 -
-x:—)h l(x)z

g(x) =12x -» g7(x) =

fe)=5=6f(x) =

h(x) = x_ia: - b\ (x) =

g(x) =

7
—x—3

x+9

= g ()=

h(x) == ->h7'(0) =

hi{z) =

2x-10
4

e h_l(x) =

1) h(x) = — - h7}(x) =

100

12) f(x) =(x~3)° > fl(x) =
13) s(x) = =2x + 5 - s7Hx) =
18) k(x) = == k™(x) =
15) f(x) =3Vx—3 > f'(x) =
16) f(x) =2 =2 f7I(x) =
17) s(x) = -3x+1-s5}(x) =

18) k(x) =x+5-k7i(x) =

5x

19) h(x) = ;'16 - h7l(x) =

200 gx) = —x+6- g7 (x) =

21) h(x) === 5 h7l(x) =

22) w(x) = %x - -1;? Swlix) =

g
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